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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Summer Examination-2016 

 

Subject Name : Switchgear and Protection  
Subject Code : 2TE06SGP1                                     Branch: Diploma(Electrical) 
Semester : 6       Date : 04/05/2016   Time : 02:30 To 05:30   Marks : 70 

 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: 

 
(14)  

 a)   A circuit breaker is  

(A) power factor correcting device  

(B) a device to neutralize the effect of transients  

(C) a waveform correcting device  

A. (D) a current interrupting device 

1 

 b)  SF6 gas  

(A) is yellow in color  

(B) has pungent odor  

(C) is highly toxic  

(D) is non-inflammable. 

1 

 c)  The medium employed for extinction of arc in air circuit breaker is  

(A) SF6 

(B) Oil  

(C) Air  

A. (D) Water. 

1 

 d)   SF6 gas  

(A) is lighter than hydrogen  

(B) is lighter than air  

(C) has density 2-times as compared to that of air  

(D) has density 5 limes as compared to that of air. 

1 

 e)  Fusing factor for a HRC fuse is  

(A) Minimum fusing current / Current rating  

(B) Minimum fusing current / Minimum rupturing time  

(C) Maximum fusing current / Minimum fusing current  

(D) Minimum fusing current / Prospective current of circuit. 

1 

 f)  The most common type of 3φ unsymmetrical fault is ............... 

(A) LLL 

(B)LLG 

(C)LG 

1 
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(D) LL 

 g)  The fault clearing time of a circuit breaker is usually  

(A) few minutes  

(B) few seconds  

(C) one second  

(D) few cycles of supply voltage. 

1 

 h)  SF6 gas is  

(A) sulphur fluoride  

(B) sulphur difluoride  

(C) sulphur hexafluorine 

(D) sulphur hexafluoride. 

1 

 i)   In a HRC fuse the time between cut-off and final current zero, is known as 

(A) total operating time  

(B) arcing time  

(C) pre-arcing time  

(D) any of the above. 

1 

 j)  A Merz-price protection is suitable for  

(A) transformers  

(B) alternators  

(C) feeders 

(D) Transmission lines. 

A.  

1 

 k)  Rating of fuse wire is expressed in 

(A)Watt 

(B)ohm 

(C) Mho 

(D) Ampere  

1 

 l)  Third pin of a 3 pin plug is thicker and longer due to 

(A)for designing purpose 

(B)for protection purpose. 

(C) all pins are of same size. 

(D) none of these. 

1 

 m)  A fuse is ............... than other circuit interrupting device of equal breaking 

capacity. 

(A) cheaper 

(B)costlier 

(C) equaL 

(D) any of the above. 

1 

 n)  The arc voltage produced in ac circuit breaker is 

(A) leading the arc current by 90° 

(B) lagging the arc current by 90°  

(C) In phase with the arc current  

(D) In phase opposition to the arc current. 

 

 

 

 

1 
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A.  

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 A Explain back up protection and give the necessity of backup protection and also explain 

types of backup protection 
7 

 B Discuss basic element of protective system with appropriate diagram. 7 

    

Q-3  Attempt all questions (14) 

 A Write abnormal conditions of power system. 7 

 B Explain Sulphure Hexafluoride circuit Breaker.  7 

    

Q-4  Attempt all questions (14) 

 A Write a note on Buchholz relay 7 

 B State & explain principle of electromagnetic attraction relay & describe attracted 

armature type relay with help of  neat sketch. 
7 

    

Q-5  Attempt all questions (14) 

 A Justify the necessity of protective transformer and state advantages of using protective 

transformer. 
7 

 B Explain differences between instrument transformer and protective transformer. 7 

    

Q-6  Attempt all questions (14) 

 A State the and types of Lighting Arrestor explain the working of  Horn gap type. 7 

 B Explain the construction and working of thyrite lighting Arrestor (Valve type LA) 7 

    

Q-7  Attempt all questions (14) 

 A Classify different types of isolator and explain any one in detail. 7 

 B Define function of circuit breaker. Write basic elements of circuit breaker. 7 

    

Q-8  Attempt all questions (14) 

 A State the Faults and abnormal conditions of three phase motor and explain any one 

method for protection. 
7 

 B Explain the Errors  in CT and PT 7 

    
 

ગજુરાતી 
 
 

Q-1  Attempt the following questions: 

 
(14)  

 a)  શર્કિટ બ્રેકર  એ 
A. ઩ાળર પકૅ્ટર સધુારક ઉ઩કરણ  

B. ટ્રાન્સશયસટશના અશર ફેઅશર કરળા માટે એક ઉ઩કરણ  

C. એક ળેળપોમમ સધુારક ઉ઩કરણ 
 

1 
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D. કરટ ઇંટરર઩ર્ટંગ ર્િળાઇશ 

 b)  SF6 ગેશ 

A. ઩ીલા રંગની ષોય છે 

B. તીવ્ર ગધં ધરાળે છે 

C. અત્યતં ઝેરી છે 

D. બફન-જ્ળ઱ન઴ી઱ છે. 

1 

 c)  એર શર્કિટ બ્રેકર  મા આકમ  લપુ્ત માટે કય ુમાધ્યમ કાયમરત છે 

A. SF6 

B. તે઱  

C. ઍર 

D. ઩ાણી. 

1 

 d)  SF6 ગેશ 

A. ષાઇડ્રોજન કરતા ંષલળા ષોય છે  

B. ઍર કરતા ંષલળા ષોય છે 

C. ષળા ની શરખામણીમા ંતેની ઘનતા ૨ ગણી છે  

D. ષળા ની શરખામણીમા ંતેની ઘનતા ૫ ગણી છે 

1 

 e)  પરસૂશંગ પકૅ્ટર પોર HRC પરઝૂ  

A. સમસનમમ પરસૂશંગ કરટ / કરંટ રેર્ટંગ 

B. સમસનમમ પરસૂશંગ કરટ / સમસનમમ રપ્ચર્રંગ ટાઇમ 

C. મષત્તમ પરસૂશંગ કરટ / સમસનમમ પરસૂશંગ કરટ  
D. સમસનમમ પરસૂશંગ કરટ / પ્રોસ્઩ેક્ક્ટળ કરટ ઓપ શર્કિટ 

1 

 f)  3φ અનસશમેર્ટ્રક઱ પૉલ્ટ નો શૌથી શામાસય પ્રકાર  ............... 
A. LLL 
B. LLG 
C. LG 
D. LL 

1 

 g)  એક શર્કિટ બ્રેકર નો પોલ્ટ ક્઱ીયર્રંગ શમય શામાસય રીતે કેટ્઱ો ષોય છે  

A. થોિી સમસનટો 
B. થોિા શેકસિોમા  ં
C. એક ફીજા 

D. સ્પ્઱ાય ળોલ્ટેજ થોિી શાઈક઱ માટે.  

1 

 h)  SF6 ગેશ  
A. શલ્પર પ઱ોરાઇિ 

B. શલ્પર િીફ્઱ોરઈિ 
C. શલ્પર ષકે્ઝાફ્઱ોરીન 

D. શલ્પર ષકે્ઝાફ્઱ોરાઇિ. 

1 
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 i)  HRC પરઝુ મા ંકટ-ઓપ અને અંસતમ શસૂય કરસટ ળચ્ચે શમય , તરીકે ઓલખાય છે 

A. કુ઱ શચંા઱ન શમય 

B. આકંગ શમય 

C. પળૂમ arcing શમય 

D. ઉ઩ર કોઈ઩ણ.  

1 

 j)  એક મઝમ- પ્રાઇશ પ્રોટેક્ષન ઴ાના માટે યોગ્ય છે  
A. ટ્રાસશપોમેર  
B. આલ્ટ્નેટશમ 
C. ર્પિર 
D. ટ્રાસશસમ઴ન ઱ાઇસશ. 

1 

 k)  પરઝુ ળાયર રેર્ટંગ ઴ેમા મા ંદ઴ામળળામા ંઆળે છે 

A. ળોટ્ટ 

B. ઓહ્મ 

C. મ્ષો 
D. ઍન્મ્઩અર 

1 

 l)  3 સ઩ન પ્઱ગ ત્રીજી સ઩ન જાિી  અને ઱ાફંી ઴ાના કારણે ષોય છે 

A. ષતે ુર્િઝાઇન માટે 

B. રક્ષણ ષતે ુમાટે. 
C. ફધા ઩ીન જ કદના ષોય છે.  
D. કોઇ ઩ણ નષી 

1 

 m)  શમાન બ્રેર્કંગ  કે઩ેશીટી ળાલા શર્કિટ ઇંટરર઩ર્ટંગ ર્િળાઇશ કરતા પરઝુ ........................... ષોય છે   
A. શસ્તા 
B. મંઘી 
C. શમાન 

D. ઉ઩રના કોઈ઩ણ 

 

1 

 n)  એશી શર્કિટ બ્રેકર મા ઉત્઩ન થતા આકમ ળોલ્ટેજ  

A. આકમ કરંટ  90 ° ઱ીિંગ  
B. આકમ કરંટ  90 ° ઱ેગંગ  
C. આકમ કરંટ  ના પેઇઝ  મા  
D. આકમ કરંટ  ના સળરુધ્ધ પેઇઝ  મા  

1 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 A ફેકઅ઩ પ્રોટેક્ષન શમજાળો અને ફેકઅ઩ પ્રોટેક્઴ન  ની જરૂર્રયાત આ઩ી તેના પ્રકાર જણાળો 7 

 B યોગ્ય રેખાકૃસત શાથે રક્ષણાત્મક સશસ્ટમ મલૂભતૂ તત્ળ શમજાળો.  
 

7 
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Q-3  Attempt all questions (14) 

 A ઩ાળર સશસ્ટમ અશામાસય ન્સ્થસત ઱ખો.  7 

 B શલ્પર ષકે્ઝાફ્઱ોરાઇિ શર્કિટ બ્રેકર સળગતળાર શમજાળો 7 

    

Q-4  Attempt all questions (14) 

 A બકુોલ્ઝ ર્ર઱ે ઩ર ટૂંક નંધ ઱ખો  7 

 B ઇ઱ેક્ટ્રોમેગ્નેર્ટક આકવમણ ર્ર઱ે નો સશદ્ધાતં શમજાળો અને આક્રુતી શાથે અટૅ્રક્ટેિ આમેચર ટાઇ઩ ર્ર઱ે 
શમજાળો 

7 

    

Q-5  Attempt all questions (14) 

 A પ્રોટેક્ક્ટળ ટ્રાસશપોમમર ની જરુરીયાત શમજાળો અને પ્રોટેક્ક્ટળ ટ્રાસશપોમમર ઉ઩યોગ મા ઱ેળાના 
પાયદા જનાળો 

7 

 B ઇસસ્ુમંટ ટ્રાસશપોમમર અને પ્રોટેક્ક્ટળ ટ્રાસશપોમમર ળચ્ચે તપાળત શમજાળો  7 

    

Q-6  Attempt all questions (14) 

 A ઱ાઇર્ટંગ અરરેસ્ટોર કાયમ શમજાળો અને ષોનમ ગે઩ ઱ાઇર્ટંગ અરરેસ્ટોર ન ુફાધંકામ અને કાયમ 
શમજાળો  

7 

 B થાઇરાઇટ ઱ાઇર્ટંગ અરરેસ્ટોર (ળાલ્ળ પ્રકાર LA) ન ુફાધંકામ અને કાયમ શમજાળળો 7 

    

Q-7  Attempt all questions (14) 

 A આઇશો઱ેટર સળસળધ પ્રકારના ળગીકરણ કરો  અને સળગતમા ંકોઇ઩ણ એક શમજાળો છે. 7 

 B શર્કિટ બ્રેકર ન ુકાયમ વ્યાખ્યાસયત કરો અને શર્કિટ બ્રેકર મલૂભતૂ તત્ળ ઱ખો.  7 

    

Q-8  Attempt all questions (14) 

 A પૉલ્ટ્શ અને અફનૉમમ઱ કંિી઴ન થ્રી પેજ઼ મોટર માટે  શમજાળો અને રક્ષણ માટે કોઇ એક ઩દ્ધસત 
શમજાળો છે. 

7 

 B શીટી અને ઩ીટી મા ંએરર શમજાળો 7 

 


